greater	CERTI	FICATE C	E ORIG	N ORIGINAL				
greater miami chamber of commerce.	TO VALIDATE, GO	OTO Certificate Number	HHHH	84-6607324a10489				
Seller (Exporter) ALCHEMIST LIFESTYLE LLC 1525 Daytonia Road	Transport Type Air	9		Port of Loading LOS ANGELES				
Miami Beach FL USA	Destination Co Turkey	ountry	Destination Po ISTANBUL	Destination Port ISTANBUL				
Consignee	Export Date 2024-03-18		Exporting Car DHL	Exporting Carrier DHL				
VAKKO TEKST?L VE HAZIR G?Y?M SAN. ??L. A.?. ALTUNIZADE MAHALLESI KU?BAKI?I CADDES? NO:35 34665 NAKKA?TEPE	Import Permit	Number	Bill of Lading 3200962155	Bill of Lading / AWB 3200962155				
ÜSKÜDAR - ?STANBUL Turkey	Owner or Ager ***********	nt	Forwarding Ag	Forwarding Agent ********				
Buyer (Importer)	Remarks			C14-279-C3				
	Consignor refe	erence: VAKKO						
Description (May include notes on Quantity, Item Number, Marks and Numbers	s Kind of Packao		Weight	Country of Origin				
MENS CLOTHING	s, kind of Fackag		68	United States				
H.S.Code: 6110201010								
Name of Authorized Trade Association		origin applicable in the country(ies) -The information in this certificate a Commerce ("GMCC") is accurate, tr -The Applicant undertakes to adviss Certificate (or to whom the Certific of any innacuracy, omission or chan -The Applicant will maintain, and pr truth, accuracy and completeness -In consideration for the GMCC's is:	ate in the country(ies) specifier to those goods. Ind in any documents provided ue and complete. 6 GMCC and any other person(s te is provided to with the know ge in such information, or in th esent upon request, such docur f this certificate and accompar suance of this Certificate, the Ay lity in connection with the issue or claims made against GMCC i	d above and comply with the rules of to the Greater Miami Chamber of b) to whom the applicant provides this ledge of the Applicant) promptly in writing e origin of goods. mentation as is necessary to verify the hying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.				

## ALCHEMIST LIFESTYLE LLC 1525 DAYTONIA ROAD MIAMI BEACH, FL 33141

## COMMERCIAL INVOICE

03/18/24 INVOICE #: 20240227-4

BILL TO: VAKKO TEKSTİL VE HAZIR GİYİM SAN. İŞL. A.Ş. ALTUNIZADE MAHALLESI KUŞBAKIŞI CADDESİ NO:35 34665 NAKKAŞTEPE ÜSKÜDAR - İSTANBUL

SHIP TO: VAKKO TEKSTİL VE HAZIR GİYİM SAN. İŞL. A.Ş. SANAYİ MAH. 1673 SOK.NO:25 34517 ESENYURT - İSTANBUL

							29	30	31	32	33	34	36	38			
STYLE NUMBER	DESCRIPTION	COLOR	соо	СОМР	HS CODE	O/ S	xxs	xs	s	м	L	хL	xx∟		QTY	PRICE	TOTAL
ALMASS24MD PA01B	Studio Jeans	Light Hero	USA	100% COTTON	62034245 11		1	1	1	2	2	1			8	158	1264
ALMASS24MJ SW14d	Connor Crewneck Sweater	Plein Air	USA	100% COTTON	611020101 0				1	2	1	1			5	158	790
ALMASS24MJ PA14d	Atelier Joggers	Plein Air	USA	100% COTTON	611020101 0				1	2	1				4	168	672
ALMASS24MJ SST23a	Paradise Snake T-shirt	Jet Black	USA	100% COTTON	61091000 04				1	2	2	1			6	66	396
ALMASS24MJ SST23b	Floral Skull T-shirt	Defender Green	USA	100% COTTON	61091000 04				1	2	2	1			6	66	396
ALMASS24MJ SST23e	Floral Skull T-shirt	Paprika	USA	100% COTTON	61091000 04				1	2	1				4	66	264
ALMASS24MJ HD24b	Lost Lost Lost Hoodie	Terra Cotta	USA	100% COTTON	611020101 0				1	2	2	1			6	158	948
ALMASS24MJ SW25c	Paradise Paradise Paradise Sweater	Fields Of Rye	USA	100% COTTON	611020101 0				1	2	2	1			6	150	900
TOTAL															45		5630

TOTAL VALUE: \$5,630.00 USD



Lin Vener Dueron NAMBE FLORIDA S COMMER ALATER ML

## İHRACATÇI KAYIT FORMU

	EXPORTER REC	GISTRY FORM				
Legal Title*	ALCHEMIST LI	FESTYLE LLC				
Business Title**	ALCHEMIST					
Address*** 1. Line	1525 DAYTONIA	A ROAD				
Address 2. Line						
Address 3. Line						
City	MIAMI BEACH					
State/Province/Region	FLORIDA					
ZIP	33141					
Country	USA					
Phone Number	954	326	0319			
Fax Number	N/A					
URL	WWW.SHOPAL	CHEMIST.COM	!			
E-mail	ERIKA@SHOPA	LCHEMIST.COM				
Tax Authority	USA					
Tax Registry Number	82-3411274					
Number of Employee (Yearly average)						
Total Sales in USD (last year)						
Year of Establishment	2017					
Legal (Corporate) Status	LLC					
International quality certificates owned and their registry numbers						
Countries products are exported	to					
Even ant accurate (i.e.s.)		Droduct(a)				

Export country(ies)	Product(s)	

I hereby declare that the information presented above is correct and verifiable.

Name, surname and title in the company	ERIKA SUSSMAN
Company stamp and sing of the authorized person	03/12/2024

\*The title that company is registered to.

\*\*The title appears on invoice.

\*\*\*Legal address that headquarters is legally registered.

